## OSCILLATION CRITERIA FOR CERTAIN FOURTH ORDER NONLINEAR DIFFERENCE EQUATIONS

SAID R. GRACE<sup>1</sup>, RAVI P. AGARWAL<sup>3</sup>, AND SANDRA PINELAS<sup>3</sup>

<sup>1</sup>Department of Engineering Mathematics, Faculty of Engineering Cairo University, Orman, Giza 12221, Egypt E-mail: srgrace@eng.cu.eg

<sup>2</sup>Department of Mathematical Sciences, Florida Institute of Technology, Melbourne, FL 32901, U.S.A. E-mail: agarwal@fit.edu

<sup>3</sup>Department of Mathematics, Azores University, R. Mãe de Deus, 9500-321 Ponta Delgada, Portugal. E-mail:sandra.pinelas@clix.pt

**ABSTRACT.** We shall establish some new criteria for the oscillation of the fourth order nonlinear difference equation

$$\Delta^{2}\left(a\left(k\right)\left(\Delta^{2}x\left(k\right)\right)^{\alpha}\right) + q\left(k\right)f\left(x\left(g\left(k\right)\right)\right) = 0$$

via comparison with some difference equations of less order whose oscillatory characters are known.

## 1. INTRODUCTION

Consider the fourth order nonlinear difference equation

$$\Delta^2 \left( a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} \right) + q\left(k\right) f\left(x\left(g\left(k\right)\right)\right) = 0 \tag{1}$$

where  $\Delta$  is the forward difference operator defined by  $\Delta x (k) = x (k + 1) - x (k)$  and  $\alpha$  is the ratio of positive odd integers. We shall assume that  $g, a : \mathbb{N}(k) \to \mathbb{R}^+ = (0, \infty)$  for some  $k \in \mathbb{N} = \{0, 1, ...\}$  and  $\mathbb{N}(n_0) = \{n_0, n_0 + 1, ...\}$  where  $n_0 \in \mathbb{N}$ ,  $g \in \overline{G} := \{g : \mathbb{N}(k) \to \mathbb{N} \text{ for some } k \in \mathbb{N} : g(k) \leq k, g(k) \text{ is non-decreasing and } \lim_{k \to \infty} g(k) = \infty\}$ , and  $f : \mathbb{R} \to \mathbb{R}$  is continuous satisfying xf(x) > 0 for  $x \neq 0$  and f is non-decreasing.

By a solution of equation (1), we mean a nontrivial sequence  $\{x(k)\}$  satisfying equation (1) for all  $k \in \mathbb{N}(K)$  where K is some nonnegative integer. A solution  $\{x(k)\}$  is said to be oscillatory if it is neither eventually positive nor eventually negative and it is nonoscillatory otherwise. Equation (1) is said to be oscillatory if all its solutions are oscillatory. Determining oscillation criteria for difference equations has received a great deal of attention in the last two decades, see for example the Monographs of Agarwal et. al. [1]–[3]. This interest is motivated by the importance

Received March 9, 2010

of difference equations in the numerical solutions of differential equations. Compared to equations of order less than or equal to two, the study of higher order equations and in particular fourth order equations, has received considerably less attention see [4]– [9]. In this paper, we shall establish some new criteria for the oscillation of equation (1) via comparison with some equations of less order, whose oscillatory characters are known.

## 2. MAIN RESULTS

For  $k \ge n_0 \in \mathbb{N}$ , we let

$$A[k, n_0] = \sum_{s=n_0}^{k-1} \sum_{i=n_0}^{s-1} \left(\frac{i}{a(i)}\right)^{1/\alpha}$$

In the following results, we assume

$$\sum_{i=n_0}^{\infty} a^{-1/\alpha} \left( i \right) = \infty \tag{2}$$

and

$$-f(-xy) \ge f(xy) \ge f(x) f(y) \text{ for } xy > 0.$$
(3)

Now, we prove the following result:

**Theorem 1.** Let conditions (2) and (3) hold and assume that there exists a nondecreasing sequence  $\{\xi(k)\}$  such that  $g(k) < \xi(k) < k$  for  $k \ge n_0$ . If the first order difference equation

$$\Delta y(k) + c_1 q(k) f(A[g(k), n_0]) f(y^{1/\alpha}(g(k))) = 0$$
(4)

for some constant  $c_1$ ,  $0 < c_1 < 1$  is oscillatory and there exists a constant  $c_2$ ,  $0 < c_2 < 1$ , such that all bounded solutions of the second order difference equation

$$\Delta^{2} z(k) - c_{2} q(k) f(g(k)) f\left(\frac{\xi(k) - g(k)}{a^{1/\alpha}(\xi(k))}\right) f\left(z^{1/\alpha}(\xi(k))\right) = 0$$
(5)

is oscillatory, then equation (1) is oscillatory.

*Proof.* Let  $\{x(k)\}$  be a nonoscillatory solution of equation (1), say x(k) > 0 for  $k \ge n_0 \in \mathbb{N}$ . There exists an  $n_1 \ge n_0$  such that the following two possibilities are considered:

(I) 
$$\Delta \left( a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} \right) > 0,$$
  
 $a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} > 0 \text{ and } \Delta x\left(k\right) > 0 \text{ for } k \ge n_1,$  (6)

(II) 
$$\Delta \left( a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} \right) > 0,$$
  
 $a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} < 0 \text{ and } \Delta x\left(k\right) > 0 \text{ for } k \ge n_1.$  (7)

Case (I). There exists an  $n_2 \ge n_1$  and a constant  $b_1$ ,  $0 < b_1 < 1$  such that

$$y(k) \ge b_1 k \Delta y(k) \text{ for } k \ge n_2,$$
(8)

where  $y(k) = a(k) (\Delta^2 x(k))^{\alpha}$  for  $k \ge n_2$ . Thus,

$$\Delta^2 x(k) \ge b\left(\frac{k}{a(k)}\right)^{1/\alpha} \left(\Delta y(k)\right)^{1/\alpha} \text{ for } k \ge n_2, \tag{9}$$

where  $b = b_1^{1/\alpha}$ . Summing this inequality twice, one can easily get

$$x(k) \ge bA[k, n_2] (\Delta y(k))^{1/\alpha} \text{ for } k \ge n_2.$$
(10)

Now, there exists an  $n_3 \ge n_2$  such that  $g(k) > n_2$  for  $k \ge n_3$  and

$$x(g(k)) \ge bA[g(k), n_2] (\Delta y(g(k)))^{1/\alpha} \text{ for } k \ge n_3.$$
(11)

Using (3) and (11) in equation (1), we get

$$\Delta z\left(k\right) + f\left(b\right)q\left(k\right)f\left(A\left[g\left(k\right), n_{2}\right]\right)f\left(z^{1/\alpha}\left(g\left(k\right)\right)\right) \leqslant 0 \text{ for } k \geqslant n_{3},$$
(12)

where  $z(k) = \Delta y(k)$  for  $k \ge n_3$ . Summing both sides of (12) from  $k+1 \ge n_0$  to u and letting  $u \to \infty$ , we have

$$z(k) \ge f(b) \sum_{j=k+1}^{\infty} q(j) f(A[g(j), n_2]) f(z^{1/\alpha}(g(k))).$$

The sequence  $\{z(k)\}$  is obviously non-increasing for  $k \ge n_3$ . Hence by a result in [3], we conclude that there exists a positive solution  $\{y(k)\}$  of equation (4) with  $\lim y(k) = 0$ , which is a contradiction.

Case (II). There exist a constant c, 0 < c < 1 and an  $n_2 \ge n_1$  such that

$$x(g(k)) \ge cg(k) \Delta x(g(k)) \text{ for } k \ge n_2.$$
(13)

Using (3) and (13) in equation (1), we obtain

$$\Delta^2 \left( a\left(k\right) \left(\Delta y\left(k\right)\right)^{\alpha} \right) + \bar{c}f\left(g\left(k\right)\right) f\left(y\left(g\left(k\right)\right)\right) \leqslant 0 \text{ for } k \geqslant n_2, \tag{14}$$

where  $y(k) = \Delta x(k)$  for  $k \ge n_2$ ,  $\bar{c} = f(c)$ . Clearly, we see that y(k) > 0,  $\Delta y(k) < 0$ and  $\Delta (a(k) (\Delta y(k))^{\alpha}) > 0$  for  $k \ge n_2$ . Now, for  $t \ge s \ge n_2$  we have

$$y(s) \ge (t-s)(-\Delta y(t))$$

Replacing s and t by g(k) and  $\xi(k)$  respectively, we find

$$y(g(k)) \ge (\xi(k) - g(k)) (-\Delta y(\xi(k)))$$
  
:=  $\frac{\xi(k) - g(k)}{a^{1/\alpha}(\xi(k))} (-a(\xi(k))(\Delta y(\xi(k)))^{\alpha})^{1/\alpha}$  for  $k \ge n_3 \ge n_2$ . (15)

Using (3) and (15) in (14) we get

$$\Delta^2 z\left(k\right) \ge \bar{c}q\left(k\right) f\left(g\left(k\right)\right) f\left(\frac{\xi\left(k\right) - g\left(k\right)}{a^{1/\alpha}\left(\xi\left(k\right)\right)}\right) f\left(z^{1/\alpha}\left(\xi\left(k\right)\right)\right) \text{ for } k \ge n_3,$$
(16)

where  $z(k) = -a(k) (\Delta y(k))^{\alpha}$  for  $k \ge n_3$ . The rest of the proof is similar to that in [3] and hence is omitted.

Next, we let

$$Q(k) = \left(\frac{1}{a(k)} \sum_{s=k+1}^{\infty} \sum_{j=s+1}^{\infty} q(j)\right)^{1/\alpha} \text{ for } k \ge n_0 \in \mathbb{N}$$

and establish the following result.

**Theorem 2.** Let the hypothesis of Theorem 1 hold except that we replace "all bounded solutions of equation (5) are oscillatory" with the equation

$$\Delta^2 z(k) + Q(k) f^{1/\alpha} (z(g(k))) = 0$$
(17)

is oscillatory. Then the conclusion of Theorem 1 holds.

Proof. Let  $\{x(k)\}$  be a nonoscillatory solution of equation (1), say x(k) > 0 for  $k \ge n_0 \in \mathbb{N}$ . As in the proof of Theorem 1, there are two cases to consider (I) and (II). The proof of Case (I) is similar to that of Theorem 1 - Case (I) and hence is omitted.

Case (II). Summing equation (1) twice from  $k + 1 > n_0$  to u and letting  $u \to \infty$ , we get

$$-\Delta^{2} x\left(k\right) \geq \left(\frac{1}{a\left(k\right)} \sum_{s=k+1}^{\infty} \sum_{j=s+1}^{\infty} q\left(j\right) f\left(x\left(g\left(k\right)\right)\right)\right)^{1/\alpha}$$
$$\geq Q\left(k\right) f^{1/\alpha}\left(x\left(g\left(k\right)\right)\right) \text{ for } k \geq n_{0}.$$
 (18)

Summing both sides of (5) from  $k+1 \ge n_0$  to u and letting  $u \to \infty$ , we find

$$\Delta x(k) \ge \sum_{j=k+1}^{\infty} Q(j) f^{1/\alpha} \left( x(g(j)) \right).$$
(19)

Summing both sides of (19) from  $n_0$  to  $k-1 \ge n_0$ , we have

$$x(k) \ge x(n_0) + \sum_{s=n_0}^{k-1} \sum_{j=s+1}^{\infty} Q(j) f^{1/\alpha} (x(g(j))).$$

Now, we define a sequence  $\{y_m(k)\}$  by

$$y_0(k) = x(k)$$
  

$$y_{m+1}(k) = x(n_0) + \sum_{s=n_0}^{k-1} \sum_{j=s+1}^{\infty} Q(j) f^{1/\alpha} (y_m(g(j))), \ m = 0, 1, \dots, \ k \ge n_0.$$

It is easy to check that the sequence  $\{y_m(k)\}$  is well-defined as an increasing sequence and satisfies

$$x(n_0) \leq y_m(k) \leq x(k)$$
 for  $k \geq n_0$  and  $m = 0, 1, \dots$ 

Hence, there exists a sequence  $\{y(k)\}$  for  $k \ge n_0$  such that

$$\lim_{m \to \infty} y_m\left(k\right) = y\left(k\right),$$

and

$$x(n_0) \leq y(k) \leq x(k)$$
 for  $k \geq n_0$ 

From the Lebesge Convergence Theorem, it follows that

$$x(k) = x(n_0) + \sum_{s=n_0}^{k-1} \sum_{j=s+1}^{\infty} Q(j) f^{1/\alpha} (x(g(j))), \text{ for } k \ge n_0.$$

Taking the difference twice, we conclude that  $\{x(k)\}$  is a nonoscillatory solution of equation (17), a contradiction. This completes the proof.

Next, we establish the following comparison result:

**Theorem 3.** Let the hypotheses of Theorem 2 hold except that we replace "the equation (17) is oscillatory" with the first order difference equation

$$\Delta w(k) + \theta Q(k) f^{1/\alpha}(g(k)) f^{1/\alpha}(w(g(k))) = 0$$
(20)

is oscillatory for every  $\theta$ ,  $0 < \theta < 1$ . Then the conclusion of the Theorem 2 holds.

Proof. Let  $\{x(k)\}$  be a nonoscillatory solution of equation (1), say x(k) > 0 for  $k \ge n_0 \in \mathbb{N}$ . As in the proof of Theorem 1, we consider the two Cases (I) and (II). The proof of Case (I) is similar to that of Theorem 1 - Case (I) and hence is omitted.

Case (II). Proceeding as in the proof of Theorem 2 - Case (II) and obtain the inequality (18). Now, there exist a constant c, 0 < c < 1 and an  $n_1 \ge n_0$  such that

$$x(g(k)) \ge cg(k) (\Delta x(g(k))) \text{ for } k \ge n_1.$$
(21)

Using (21) in (18) we get

$$\Delta w\left(k\right) + \bar{c}Q\left(k\right)f^{1/\alpha}\left(g\left(k\right)\right)f^{1/\alpha}\left(w\left(g\left(k\right)\right)\right) \leqslant 0 \text{ for } k \geqslant n_1,$$

where  $\bar{c} = f^{1/\alpha}(c)$  and  $w(k) = \Delta x(k)$  for  $k \ge n_1$ . The rest of the proof is similar to that of Theorem 1- Case (I) and hence is omitted.

We may combine equations (4) and (20) in one by letting

$$\tilde{Q}(k) \ge \min \left\{ Q(k) f^{1/\alpha}(g(k)), q(k) f(A[g(k), n_0]) \right\} \text{ for } k \ge n_0,$$

and

$$f^{1/\alpha}(u) = f(u^{1/\alpha})$$
 for  $u \neq 0$ 

Thus, we get

**Theorem 4.** Let conditions (2) and (3) hold. If the equation

$$\Delta v(k) + \theta \tilde{Q}(k) f(v^{1/\alpha}(g(k))) = 0$$
(22)

is oscillatory for every constant  $\theta$ ,  $0 < \theta < 1$ , then equation (1) is oscillatory.

As an example, we consider a special case of equation (1), namely the equation

$$\Delta^2 \left( a\left(k\right) \left(\Delta^2 x\left(k\right)\right)^{\alpha} \right) + q\left(k\right) x^{\beta} \left(k - \tau + 1\right) = 0$$
(23)

where  $\tau \ge 1$  is a real number and  $\beta$  is the ratio of positive odd integers. Clearly

$$\tilde{Q}\left(k\right) \ge \min\left\{g^{\beta/\alpha}\left(k\right) \left(\frac{1}{a\left(k\right)} \sum_{s=k+1}^{\infty} \sum_{j=s+1}^{\infty} q\left(j\right)\right)^{1/\alpha}, q\left(k\right) \left(\sum_{s=n_{0}}^{k-\tau-2} \sum_{i=n_{0}}^{s-1} \left(\frac{i}{a\left(i\right)}\right)^{1/\alpha}\right)^{\beta}\right\}.$$

Now, we have the following immediate result.

**Corollary 5.** Let condition (2) hold. Equation (23) is oscillatory if one of the following conditions holds: (O<sub>1</sub>)  $\alpha = \beta$  and  $\lim_{k \to \infty} \sum_{i=k-\tau}^{k-1} \tilde{Q}(i) > \left(\frac{\tau}{\tau+1}\right)^{\tau-1}$ ; (O<sub>2</sub>)  $0 < \beta < \alpha$  and  $\sum_{i=n_0 \in \mathbb{N}}^{\infty} \tilde{Q}(i) = \infty$ .

**Remark 6.** We note that the results presented in this paper are not applicable to equations of type (1) when g(k) = k.

**Remark 7.** The results of this paper can be extended easily to dynamic equations on time-scales of the type

$$\left(a\left(t\right)\left(x^{\Delta\Delta}\left(t\right)\right)^{\alpha}\right)^{\Delta\Delta} + q\left(t\right)f\left(x\left(g\left(t\right)\right)\right) = 0.$$

The details are left to the reader.

## REFERENCES

- [1] R. P. Agarwal, Difference Equations and Inequalities, Marcel Dekker, New York, 1992.
- [2] R. P. Agarwal and P. J. Y. Wong, Advanced Topics in Difference Equations, Kluwer, Dordrecht, 1997.
- [3] R. P. Agarwal, M. Bohner, S. R. Grace and D. O'Regan, Discrete Oscillation Theory, Hindawi Publisher, New York, 2005.
- [4] J. H. Hooker and W. T. Patula, Growth and oscillation properties of solutions of a fourth order linear difference equation, J. Austral. Math. Soc. Ser. B, 26 (1985), 310–328.
- [5] J. Popenda and E. Schmeidal, On the solutions of fourth order difference equations, Rocky Mountain J. Math., 25 (1995), 1485–1499.
- [6] B. Smith and W. E. Taylor Jr., Oscillations and asymptotic behavior of fourth order difference equations, Rocky Mountain J. Math., 16 (1986), 401–406.
- [7] W. E. Taylor Jr., Oscillation properties of fourth order difference equations, Portugal Math., 45 (1988), 105–114.
- [8] W. E. Taylor Jr., Fourth order difference equations: Oscillations and nonoscillations, Rocky Mountain J. Math., 23 (1993), 781–795.
- [9] J. Yan and A. Liu, Oscillatory and asymptotic behavior of fourth order difference equations, Acta Math. Sinica, 13 (1997), 105–115.